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But if not for this, I would have said, even a minor, but it is written,
‘if it was true, etc.’

Overview

WP W taught that a ¥1 0w X*¥1 on a m1vp is exempt from being punished, since the
AN writes,! 7717 °aR? NN (with a X"7 at the end) it excludes a 71vp. The XA
asked, and if it would not state 77v17 (but 7v17) it would include a m1vp, but the 7710
writes that if it was true (she was 73t during the 101X period), she receives 77°p0;
that cannot be discussing a 71vp, for we do not punish minors. Nd0IN reconciles our
X3 with a seemingly contradictory X723,

n1voIN asks:
= PUNY N2 Y9N NP DN T2 11 PNYY 1922495 NN

The 59 is astounded; so what of it that the »109 is discussing an adult woman

who is punishable -
= 2130P 1210 NINT 919999 139810 0PN Yan

Nevertheless we can say that the same rule applies to the husband if the wife is a

minor; mooin attempts to prove his point -
= (3,50 97 pa70) TN 77 P92 139D NYIPDA 1N NONINN NIV DY XA NNY

For one who has relations with a betrothed minor is stoned, according to the
3139 in PR ' pAD -

= N2D PUNY N3 NUINNN NIYIT NYID NODNT ) DY 9N
Even though that the 7295 of 707IR%7 79w is written concerning an adult woman

who is punishable -
— [Npys KXY YUN 927 by NIYIN NNY 329N575]

As the P10 states, ‘and the maiden shall also be stoned because she did not cry
out’ —

Mo0IN answers:

11,25 (x¥n) ©127. Generally in the 7m0 the word 771 is written w1 (without the X"7), however here the 70 writes
w1 with a 877 to exclude a mwp.
2 He must receive the 01p (one hundred 2°9pw payment to her father and nmipon).
3 73,20 (R¥n) o127. We see that even though the 09 regarding noMRA7 771 is discussing an adult woman, but the
same rule applies (to the male) even if the 707R»7 77v1 was a 7P (according to the 7127). The same should be here
by a 71"wxm that even though the p109 is discussing a 712173 (who will be punished if it is true), nevertheless the 7"wxm
should always be liable even if the wife is a 71vp!
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And the >"1 answered that there by 710 7078?7171 %Y X2 we include him to receive

n72°p0, because the X3 shortly concludes, ‘Here the 710 writes 7991 with a X"

(meaning that by 7"wx we require that she is a 77¥1 [not a 7vp] -
- 0NN N9 P2NN 75N ‘¥NWNa NIVP TN ¥ MMINIY DIPN Y5 NN

However in every other place where 9p1 (without a X"77) is written it means even

a mwp’, therefore we hold the man liable there (by 7omxnm 77v1 %y x2) -
— 11399 %995 1YY 1NN

And we derive all the ny» from nomxna 79V 2V X273 (that if the My [sister, daughter,
etc.] was a mivp the man is punished nonetheless).

mooin offers an alternate distinction between the two cases (V"W and 708N 791 ¥ R2):
= A9 NON MPYNMY DI 29NN DT 91990 NN NIAD Y9 OV NO¥INI NPT 90 ON

Or you may also say, it is specifically regarding a 2'"'wxm where it is logical to

assume that the 7"wx1 is not liable for nypY21 o317 unless she is a 79173 -
= N1YYa XD PWIY NI 29X NIPT )9S

Since the P02 is discussing a woman who is punishable; but this logic does not

apply elsewhere; the explanation of the difference is —
= SRIN VNN NMIVP NNDT VT NI NIAD NIVPN DY Y5 OV NIINT DIVN

Because by a 2"wx on a mmwp (that she was 71 willingly) it is logical that he

should be =12, since seducing a minor is the equivalent of forcing her -
= 629110 NDT NDINIY NIYIN DY ¥9 DY NIXIND %N

So therefore he is like a 2'"wx2 on a 79y1 that she was forced during the 701X
period, in which case, he will not be liable.

nHoIN negates an alternate distinction between 2"w¥1n and 70MRAT 77Y1 HY X2
= 7PMNY AW DIVN 15D 29N PYIIY NI XPITT D 9aN01NT 99 PN JaN

4 Regarding a no7%ma 77wl By X2 the A0 writes 70787 w3 77 93 (in 20,25 [X¥N] 2°727), without a X"7 therefore it
includes a n1vp according to the X1pon of our X,
5> A child is very susceptible therefore even though she presumably agreed, but we look upon it as if she was coerced.
[In today’s society we call it statutory rape if one has (even consensual) relations with a minor. ]
6 He is not really a 2"wxm, for she did nothing wrong; she was forced, and similarly by a 0P, even if she was seduced,
since X177 01X 730p 100, However by a moMR»i 7w Y X277 he was 73m with an 717w, and it should make no difference
whether she is a 7791 or a mvP, his 7772y is the same. See ‘Thinking it over’.
7 The 9mY% X is saying that it makes sense to distinguish between a 77v1 and a 71vp by "W (only), if we assume
that the reason the 7"wxm is punished is because he is causing his wife to be killed, therefore by a 77v1 where she will
be killed if it is true, therefore if it not true the 7"wx¥w is punished, but by a fvp since she will not be killed in any
case, the 1"wxm should not be punished. However by 0187 ¥ X2, there is no reason to distinguish whether she is a
771 or a 11wp (as mentioned previously [see footnote # 6]). N19OIN rejects this reasoning.
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However we cannot say that the assumption is that the 7"wxm is 39’17 because he

is causing her to be Killed by 7"2; however if she is a 71vp he is not causing her death (for

she is DWW N2 IRY); we cannot assume that -
- 1959 PYYINT XIPDYA (3,0 91 PITNIOT RNP PI92T

Because in the first P95 of 3"97710 noon, in the discussion whether we are

concerned for rumors -
12919 RYOP 1Y 039 NPT DIVN INYYT Synwn

It seems that the 7"wxn is not liable because he is causing her to die. Therefore we
cannot use this line of reasoning.

Summary
We can distinguish between a 7"wxm (where there is a difference whether she is a

771 or a mvp) and 107NN 7IV1 P K27, either based on the o105 (whether it is 77v2
or 7¥1), or based on the logic the X177 01X 710P "N°2 so he is not really a 2"wxn.

Thinking it over

MBoIN writes that X177 01X 710P "10°0 and it 1s as if he was claiming that his wife was
no1x1. If that is the case, why is he coming to 7"°2 in the first place, if it is an 01X,
she is "M to him and they can continue to be married?’

8 It seems from that Xn3 that the 7"wxn is liable for the 03p, even in case where we cannot be 21 her 7nn (for
instance the 07y claim that they saw her being 11, however they did not warn her). It is therefore evident that paying
the o1p is not connected with causing her death.
? See DX NN,
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